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01 A& HI 248,784 0 248,784
OeolEsd HE A 168,784
= 85,000
Al 83,784
OAZEW HHE OIHEZ FHISA 80,000
03 Al S THHI 1,216 0 1,216
O0e0lE2Es 7Y JHHAY R0l
168,785,000& * 0.72/100 1,216
33t HE S A 1,280,594 124,893 1,155,701
401 Al HIZ 201 Y] 1,280,594 124,893 1,155,701
01 A& HI 1,276,000 124,000 1,152,000
O33n NESA 1,276,000
03 Al S HHI 4,594 893 3,701
S5t HES A 20|
1,276,000,000& * 0.36/100 4,594
Olglo] e HE Qo= 184,000 106,000 78,000
= 92,000
Al 92,000
401 AIEHI L 2 CHYI 184,000 106,000 78,000
= 92,000
Al 92,000
01 A& HI 182,684 105,242 77,442
O0gloletdE 2 T2 FALS 182,684
& 92,000
Al 90,684
03 Al 2 THHI 1,316 758 558
OO0 oletM P A olZetRE ALY R0l
182,684,000 * 0.72/100 1,316
S22 JgR= 5,116,950 960, 386 4,156,564
g = <& 2te] 100,870 94,194 6,676
307 21201 A 100,870 94,194 6,676
05 BIZHRI & 3 100,870 94,194 6,676
Otfag =S & 2el 100,870
o Eaeltl 87,870
cdYtha MUSBEHS 3,000
odEds |FANEH 10,000
T2 HMAIEZE FHI 201,440 201,440 0
401 Al HIZ 2018 201,440 201,440 0
01 A& HI 200,000 200,000 0
OLZtHAIEE EHIAY 200,000
03 Al 2 THHI 1,440 1,440 0
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OLZtHAIEE ZFHIAY R0l
200,000,000 = 0.72/100 1,440
g 2 HE RAES 241,440 161,152 80,288
401 A& HIZ 201 I 241,440 161,152 80,288
01 A& HI 240,000 160,000 80,000
O"ldl1n wEH S A 60,000
OFgeotdact &t HAdFHH 50,000
Oung & HERIE=S 50,000
Os3CX~ESLO0MEZ o1&W &X 80,000
03 AIE 2 THHI 1,440 1,152 288
O8&1 WEHHISA
60,000,000 * 0.9/100 540
OFLAIFAES L HUHY
50,000,000& * 0.90/100 450
Oung & HERIE=S
50,000,000& * 0.90/100 450
2 X¥E+ 509,600 503,600 6,000
206 M= Hl 6,000 0 6,000
01 =8l 6,000 0 6,000
OE2ZFBL+ MW= 6,000
401 A& HIZ 201 I 503,600 503,600 0
01 A& HI 500,000 500,000 0
OL2ZF EB+=IA 500,000
03 Al S THHI 3,600 3,600 0
OE2ZEZE B2 A 20l
500,000,000 = 0.72/100 3,600
L2~ AL 22 T2 HH| S A 4,003,600 0 4,003,600
401 AIEHI L 2CHYI 503,600 0 503,600
01 A& HI 500,000 0 500,000
OSL2~DHA At T2 HHIS A 500,000
03 AIE 2 THHI 3,600 0 3,600
O=2=2~1NeH2 A2t T2 HHI S A 20Ul
500,000,000% * 0.72/100 3,600
403 MHXSHHSA=0l& 3,500,000 0 3,500,000
02 S| 2 S0l CHSHCH & Ar B 3,500,000 0 3,500,000
O=SYZ~NHYAZ T=ZHHISAM St EF 3,500,000
NHEANEZZ2 FHISA 60,000 0 60,000
401 A& HIZ 201 Y| 60,000 0 60,000
01 A& HI 60,000 0 60,000
OFsts NMAEANEZZ HHIZSA 60,000
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S2ZANE JIsZst 972,004 1,197,504 A 225,500
EZANEE 22 144,548 138,048 6,500
201 €24 92,800 86,300 6,500
01 At 22l 21,120 14,620 6,500
Oger==EH| 20,000
2RI AER 10,000
cEZHA EEx+2 10,000
o2g+g 1,120
cTRIENIAL BHLY
70,0003 = 8H =« 23| 1,120
02 =24l 71,680 71,680 0
O332= % HAl 67,680
o HEZHI (4 A) 5,000
clIIR3 4,000,000 = 12& 48,000
cHIMERE S 130,000& » 3CH = 23l 780
oxtgEE = (1) 400
oL 2HEZ HRIINANLES 2B 1,500
cEZHEHEZ RIIIXIAM 12,000
oHg & XotxE sX2el 3,000
OUNRIZA S ANEs S22l (3MHA) 1,000
202 OHl 8,748 8,748 0
01 = LH 4 Hi 8,748 8,748 0
OZzze YLEX
81,0003 = 4% + 3¢ = 93| 8,748
206 M= Hl 15,000 11,000 4,000
01 =8l 15,000 11,000 4,000
OZsA2el M7 15,000
401 Al HIZ 201 Y] 10,000 32,000 A 22,000
01 A& HI 10,000 32,000 A 22,000
OS2 HHEX & & BrAHY HHI 10,000
405 TtabF S 18,000 0 18,000
01 AL EFHSHI 18,000 0 18,000
Oz &e&8 AE+1Y 18,000
Mz =& 711,300 841,300 130,000
101 1A Hl 40,000 40,000 0
04 JIZHHZ2Z2XNSE S+ 40,000 40,000 0
OMEXE 2 LAAY 2Y 40,000
201 L4l 110,000 110,000 0
02 =224l 110,000 110,000 0
OM&XE FFH 95,000
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ONM&EXE sl 15,000
202 44l 1,300 1,300 0
01 = LH o4 1l 1,300 1,300 0
Ooxeggs =& 1,300
206 M= Hl 350,000 350,000 0
01 =8l 350,000 350,000 0
gdotzts & 437 310,000
OZMee & JIeHE+Y 40,000
401 Al HI K 2018 210,000 210,000 0
01 A& HI 20,000 20,000 0
ORM&EZHl 2=H(150H) 20,000
03 A& =2 THHI 190,000 190,000 0
ON&ZEH gtz 190,000
dANE/RE 29 5,260 5,260 0
201 Let24d] 3,640 3,640 0
01 At 22/l 3,640 3,640 0
OLATZEAE2 FH&+H
0,000& * 269 =« 23| 3,640
301 et A3z 1,620 1,620 0
09 HALAHIEA S 1,620 1,620 0
OLATZAE 2 F404
81,000& = 10 = 23] 1,620
SANMZLEE SEUHHM 2,000 4,000 A 2,000
203 YR =&l 2,000 4,000 A2,000
03 A FXH S =AY 2,000 4,000 A 2,000
OAIIZZEE SEUMFA 2,000
S E2OHEAID PAS 5,000 5,000 0
305 et =2 S 5,000 5,000 0
o1ia=s 5,000 5,000 0
OEZoEAND 24Z 5,000
C2HY MRAEH 103,896 203,896 100,000
201 £B-2dH| 600 600 0
01 At 22l 600 600 0
OEZ2HYAMRA Sil==2 600
202 odl 1,296 1,296 0
01 = LH o4 1l 1,296 1,296 0
OEB4Eo g2Fa
81,000& = 2% = 22 « 43| 1,296
401 A& HIZ 2018 102,000 202,000 A 100,000
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01 Al& H| 102,000 202,000 A 100,000
OS2 H ASA B4 100,000
OEZAME X2 2,000
SEXN S MAD|BE 25} 374,800 666,832 A 292,032
=g0Igt =4 374,800 666,832 A 292,032
EI|BIAIE S X2 50,540 250,432 A 199,892
401 Al EHI L 204 50,540 240,432 A 189,892
01 Al&H| 50,000 238,570 A 188,570
OEI|BAIE R EL=BA 50,000
03 Al 20| 540 1,862 N 1,322
OEYIIBIAIE SXESLZ2A 20b]
50,000,000& = 1.08/100 540
sSHAY ARD FOA=SAAS 201,440 201,440 0
401 AlEHIZL £ 0HY| 201,440 201,440 0
01 Al&H| 200,000 200,000 0
OsgXY A2 FURIAAMNH 200,000
03 A& E2HH| 1,440 1,440 0]
SSEANY AR FOSJAAIE AIEL20UH]
200,000,000& * 0.72/100 1,440
S22 L 100,900 201,440 A 100,540
401 Al HI L £ 0HHI 100,900 201,440 A 100,540
01 Al& B 100,000 200,000 A 100,000
OsZ T EHZA 100,000
03 Al&E 201 Y| 900 1,440 AN 540
Os2 XL H S A 20U
100,000,000 = 0.90/100 900
Ol2dlE=XelAld S XA 21,920 13,520 8,400
201 et d| 21,920 13,520 8,400
01 A2t 2| bl 18,000 10,600 7,400
O0tSata=Xel A& S XA (20 A)
1,500,000& * 43| 6,000
OutssotEMelAlE &2
500,000& * 200 = 12& 12,000
02 2% H| 3,920 2,920 1,000
OltSotE=HelAlE 823
80,0002 * 20HA « 128 1,920
Outssdte=MdelAlE A2
1,000,000 * 2002 2,000
FOIY HOZ G 313,892 274,749 39,143
DIQASHAE MYl A SFA 313,892 274,749 39,143
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MEDIAD S Kl 24 313,892 274,749 39,143

201 et A | 1,300 1,300 0

02 3524t 1,300 1,300 0
OMEDNAIISKHE 29 1,300
oMEORAINSH2 HHl Rl 1,000
o 2P LEA D HEH| 300

202 044 2,592 2,592 0

01 2L Y| 2,592 2,592 0
OM&0IRAAI|S K el 2,592

206 M = Hl 30,000 30,000 0

01 24l 30,000 30,000 0
OMERIESH MEPY 30,000

401 Al HI L 2 0HHI 280,000 230,000 50,000

01 Al 280,000 230,000 50,000
OMBOIAT AFRD ALY 200,000
OABIEH HI2oll A AtY 80,000

FOMETAAME A MEH 25 2,427 13,000 A 10,573
= 719
Al 1,708

FAEAHS B 2,427 13,000 A 10,573
= 719
Al 1,708

Hass &= XA 2,427 13,000 A 10,573
o= 719
Al 1,708

307 ©12+OI & 2,427 13,000 ~10,573
o= 719
Al 1,708

10 Al SXAIEEE2IHIEX 2,427 13,000 A 10,573
OMASE &2 K& 2,427
& 719
Al 1,708

DI X &A AN 741,933 912,808 N 170,875

SAEZ XM 741,933 912,808 N 170,875

2 (S #xize 741,933 912,808 A 170,875

201 Bt 404,923 594,633 A 189,710

02 352494l 404,923 594,633 A 189,710
OJlz(B2eh)s ®IIe23 389,299
cIIES 37.50& * 2,181 * 265W » 12& 260,085
clIZ2S 37.50& % 6375 * 150W = 128 42,998
oHOotsS 37.50&3 * 2,254 « 85N » 12& 86,216
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OJAZAHMN SRS
7,000% * 1860HA * 128 15,624
401 Al HIZ 2018 337,010 318,175 18,835
01 A& HI 334,600 315,900 18,700
Ozs & AXZA 1,460,000& * 308 43,800
ON=Z2(EeH)E R E=2H|
234,000& = 1,200 280,800
O&M & S AI4=2 2= 100,000& * 100S 10,000
03 Al S THHI 2,410 2,275 135
OJz(Beh) s Ax(nH) &£ FNES 20Ul
334,600,000 * 0.72/100 2,410
HE2HZH (AL ) 414,210 382,393 31,817
ol 2dH| 371,838 340,021 31,817
ol 2AY| 371,838 340,021 31,817
101 @124l 371,838 340,021 31,817
03 RIAHAZ 2N E =+ 371,838 340,021 31,817
Ox==2d = 293,505
=Jl2g 52,300% * 99 * 250¢ 117,675
o= 117,675,0002 * 4/12 39,225
cHIIRSFII=E 52,3008 » 9% » 202 9,414
oAN24A2RFE
9,806% * 9% * 20AI2} * 12 21,181
oxE4Y 52,3008 * 9% * 522 24,477
cggaeLy
78,450& * 9H * 3 » 12¢ 25,418
o Jta 3 117,675,000& = 10/100 11,768
cuwsE x| 80,000& = 9 » 12& 8,640
oE2RFE 40,000& = 9 = 12& 4,320
SPSEY Fal]l 249,158,000& * 4/100 9,967
o H A F I 400,000& = 9% = 23] 7,200
oIl =l 200,000& = 99 1,800
o g &l 80,000& = 9 « 12& 8,640
o2 Z4ltl
7,000& * 9H * 5 » 123 3,780
OMEoIdIIsXHel 22X B+ 78,333
=JIEg 47,6803 * 3Y¥ = 250 35,760
oca0iza 35,760,000& * 4/12 11,920
cHIRSFI=E 47,6803 * 3Y x 20 2,861
o A2l =&
8,940 * 3Y * 20AI2t * 12& 6,437
oFF 47,6803 * 3% » 52 7,439
o Jtat = 35,760,000& = 10/100 3,576
o H A F I 400,000& = 3% = 23] 2,400
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ogxd 40,0003 = 3% » 123 1,440
SPSEY Falll 67,993,000& * 4/100 2,720
o Il = 4| 150,000& = 3Y « 23] 900
o g &l 80,000& = 3% = 123 2,880
Jl= &l 42,372 42,372 0
Jl=&l 42,372 42,372 0
201 Let249] 31,524 31,524 0
01 At 22l 26,724 26,724 0
ORA2Y JI23H 250,000& » 12& 3,000
OANREE R (SAMX S) 200,000& * 128 2,400
O#IHANRIII 425 7¢
300,000& = 13CH * 23 7,800
Od3a=+J| gz 49,0003 = 204 = 123 1,176
O=gtl 7,000% * 21H * 7 » 123 12,348
02 =24l 4,800 4,800 0
ORERS 400,000 ~ 12& 4,800
202 O4dl 6,648 6,648 0
01 = LHA YI 1,680 1,680 0
OHI&4Z2 20 1,680
02 X 4,968 4,968 0
CF 2 IACSEF AN
138,000& * 39 » 123 4,968
203 YR =2t 4,200 4,200 0
04 FN2ILSFAH 4,200 4,200 0
ORAN2EYE=4HI 350,000& = 123 4,200
HRags(Hdm8xmn) 4,710,000 3,124,740 1,585,260
HEHHKE 4,710,000 3,124,740 1,585,260
LHEHeHXI & 4,710,000 3,124,740 1,585,260
701 JIEtSI HEHES 4,710,000 3,124,740 1,585,260
01 JIEtSIHE &3 4,710,000 3,124,740 1,585,260
Ox=ZaZIMNEL 29 600,000
OX&E 2 FHAY 536,000
OZXE ot==2HZH A 1,748,000
OZ30t DESIHelAlE X 3At 826,000
Ot E ot==2HZH A 1,000,000




